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SECTION |l : USAGE
Questions 28-53

Part A

Directions: This section consists of a number of incomplete statements,
each of which has four suggested completions. Select the word or phrase
that best completes the sentence structurally and logically.
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SECTION |Il: READING COMPREHENSION
Questions 54-80

Directions: Read the following texts carefully for comprehension. Each text is followed
by two or more questions or incomplete statements based on its content. Select the
answer or completion that is best according to the text and fill in the corresponding

oval on the answer sheet.

Questions 54-56.
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54, What is this advertisement about?
(A) Video
)

(C) DVD

(D) Audio tape

55. What is the content?
(A) Myth

Romance

(B)
(C) Mystery
(D) Exploration

56. Who is the main target?
(A) Adult
(B) Young adult
(C) Children
(D) Professional

Questions 57-59.
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57. What is the main topic?
(A) Increasing number of Web kids
(B) Early education through Internet
(C) Education-minded mothers in Korea
(D) Infringement of copyright and Internet

58. According to above passage, what does Susie mother’s biggest concern?
(A) Loosing eyesight
(B) Social adaptability
(C) Lack of physical exercise
(D) Learning bad behavior
59. According to the passage, which is true?
(A) Susie is using the Internet 2 hours everyday.
(B) Susie likes to use Internet Sites for kids.
(C) Summer is better season to use Internet.
(D) Parents have to pay a lot for the kids' web site.

Questions 60-61.
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60. What is the main idea in this passage?
(A) Pine trees are useful.
(B) Pine trees grow fast.
(C) Pine trees are scarce.
(D) Pine trees have a long lifespan.




61. The best way to use the pine lumber is
(A) Building boat
(B) Making paper
(C) Making furniture
(D) Building house
Questions 62-63.
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62. What were they celebrating yesterday?

(A) Brother-in-law's wedding anniversary.

(B) Sister-in -law's 60th birthday.

(C) Brother's 60th birthday.

(D)Sister's wedding anniversary.
63. What did they give her for a gift?

(A) Bathroom supplies

(B) Cosmetics

(C) Clothes

(D) Jewelry
Questions 64-65.
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64. What is the brother's hobby?
(A) Filming videos
(B) Developing film
(C) Taking pictures
(D) Watching movies

65. What is the brother's most favorite model?
(A) Flowers

B) Children

C) Trees

(
(
(D) People




Questions 66-67.
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66. Where do the swallows(AlHl) build their nest?
(A) In the tree
(B) Under the ground
(C) Under the eaves
(D) On the grass
67. What material do the magpies(7t X|) use to build their nest with?
(A) Dust
(B) Straw
(C) Grass
(D) Twigs
Questions 68-70.
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68. What kind of writing is this?
(A) Poem
(B) Proverb
(C) Journal
(D) Riddle
69. What is the best title for this passage?
(A) Round Tray
(B) Mirror
(C) Full Moon
(D) Mountain

70. Which idea was NOT used in comparison?
(A) A round tray
(B) A mirror
(C) The day light
(D) An egg




Questions 71-72.
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71. What style of writing is this?
(A) Letter
(B) Play
(C) Essay
(D) Journal

72. According to the passage, how did the author feel?
(A) He felt sorry for not reconciling with Youngsoo.
(B) He was even more mad at Youngsoo.
(C) He wanted to fight with Youngsoo.
(D) He wanted to yell at Youngsoo.

Questions 73-74.
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73. According to the passage, which of the following is
person?

(A) He teaches Korean at the university.

(B) He works for a Korean company.

(C) He is an American who married a Korean woman.

(D) He is a college student who is majoring in Korean.

he correct description of this

—+

74. What is this person's problem?
(A) It is difficult to get hired at a Korean company.
(B) Although he wants to study Korean, he doesn't know the best method.
(C) His speaking skills in Korean are not improving.
(D) He is studying Korean in English.
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Questions 75-76.
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75. What is the main idea of passage above?
(A) Delicious luncheon
(B) Kim-Chi making day
(C) Hard and busy day
(D) Family outing to restaurant

76. What did aunt do to help out?
(A) Threw away trash
(B) Dug out a hole in the ground
(C) Chopped vegetables
(D) Washed vegetables

Questions 77-78.
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77. What is this passage about?
(A) Korean cultural effect of soap operas and pop songs
(B) Growth of Korean cell phone businesses
(C) Intense competition among cell phone businesses
(D) Relationship between entertainers and cell phone
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78. Which is the correct statement?

(A) Entertainment is such a big business that the profit is more than the profit of cell

phone businesses.
(B) Thanks to cell phones, Korean entertainers are becoming more famous.

(C) Thanks to Korean entertainers, people worldwide are getting interested in

Korean products.
(D) Even though the Korean entertainment business is big, the Chinese
entertainment business still has a great effect on it.

Questions 79-80.
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79.  What is the main topic of this passage?
(A) Disadvantage of cell phones
(B) Advantage of cell phones
(C) Etiquette for cell phone users
(D) General effect of cell phone businesses

80. What stage is this passage?
(A) Introduction
(B) Development
(C) Climax
(D) Conclusion
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-THIS IS THE END OF THE TEST-
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